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CURVE DATA

P.I. STA= 594+70     

!= 61°-01-00"  

D= 28°-00’-00" 

R= 206.6’    

T= 121.8’   

L= 217.9’    

E= 33.2’   

P.C. STA= 593+48.2   

P.T. STA= 595+91.8   

STA. 595+49.1 TO STA. 596+77.1

STA. 592+62.9 TO STA. 593+90.9
SE TRANSITION 128’

CURVE DATA

P.I. STA= 605+30     

!= 29°-42’-00" 

D= 5°-00’-00"  

R= 1146.3’   

T= 303.9’   

L= 549.0’    

E= 396’    

P.C. STA= 602+26.1   

P.T. STA= 608+33.9   

STA. 607+75.5 TO STA. 609+50.5
STA. 601+09.5 TO STA. 602+84.5
SE TRANSITION 175’
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